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https://www.c-sharpcorner.com/article/a-basic-introduction-of-unit-test-for-beginners/

e Defining and using a class

e Making objects

e Constructor (default constructor, constructor overloading)
e Boxing and unboxing

e Deep copy

e Static data and method


https://www.c-sharpcorner.com/article/a-basic-introduction-of-unit-test-for-beginners/
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-> Time is not correct, please enter another number.
7,50,30

2> 7:50

7:50:30 AM
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static double Low = 22.5;
static double High = 30;
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this.Height = h;
this.Weight = w;
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Height = person’s height
Weight = person’s weight
BMI = person’s bmi
underweight / normal/ fat
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static void Main(string[] args) {
BMI person = new BMI(50, 1.6);
person.PrintInfo();

BN CVWINDOWS\system32\cmd.exe

key to continue .
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e
static void Main(string[] args)

BMI person = new BMI(50, 1.6);
BMI personTwo = new BMI(50, 1.8);

person.CompareBMI(personTwo);
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Height =1.74

Weight =72

BMI =23.7812128418549
normal

Height = 1.6

Weight = 62



BMI = 24.21875
normal

second person has bigger BMI
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Height = 1.63

Weight =45

BMI = 16.9370318792578
underweight

Height = 1.48

Weight =52

BMI =23.7399561723886
normal

second person has bigger BMI
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Sara,Hamidi,136902,4
Ali,Kabiri, 135011
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Hamidi: 80$

Kabiri: 1205
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Farbod,Habibi, 134803,7

Sheyda,Hakimi, 134803,3

—->Number not valid, enter another number
Sheyda,Hakimi,134804,3
Samin,Ahmadi,137210,2

—> Habibi: 350%

Hakimi: 605

Ahmadi: 205




5 Jowe « 97l o )les PrOperty aw slyls a5 sl aisS 4 sums LS Student b b oS (4 alee

Ol il S 0 0l s i ¢ yiin (SO il o el o jleds = PEJPUICH R WOV-SN P WP ot KV
RS WS SR CONS NS0 T R B EECONRR AP JCHN P SICINIE S I Ly

2ol L Sledbl b agzeiils 51 gl aul)l amy las- N j5 5 048 o 00ls (N) Lgmiils slasws «63g,5 Jgl o yo
J..\.r.a u.ul.m‘).a ul.)j.?r...u.:‘o S ol wj.n w....] ‘_§‘>9)> 399 .)9.4..: < aLla ‘5...: c_i.:?m‘é).b 6‘)" 09.....: <
0gd ool sl

static void Main(string[] args)

int count = int.Parse(Console.ReadLine());
Student[] students = new Student[2 * count];

for (int i = 0; i < count * 2; i+=2)

{
string input = Console.ReadlLine();
students[i] = new Student(int.Parse(input.Split(',"')[0]),
double.Parse(input.Split(',')[1]),
new BMI(double.Parse(input.Split(',')[2]),
double.Parse(input.Split(',"')[3])));
students[i + 1] = students[i].Copy();
}
/...

//at last your code should sort students by their averages

//and print the averages
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15.5 16 19 19.5



